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IH na:80 H3® YHS U39 (afE3)-1 AHT:3ufe
Max. Marks:80 Model Test Paper (Mathematics) Time : 3 Hrs.
AHS-TRST
Class X
Agdt de:-

. 3-8 ymsl T 8 & 8 3 £ nix T3 b
Part-A : From Q. 1 to Q. 8 carry 1 mark.

2. TA-MYAS 9T B A 16 I € nid TB Ta|
Part-B: From Q.9 to Q 16 carry 2 marks.

3. IE-gyEs 173 8 X 24 3 99 nid T I& | feast ymst fe'g fan < s ymat foe
niegdt g dt|
Part-C: From Q.17 to Q. 24 carry 4 marks and have internal Choice in any three
questions.

4. IU-HYES 25 3 B A 28 I 2 vid TV Ta ! fegst A ymat fo'g niegdl 8¢ ddt
Part-D :From Q. 25 to Q. 28 carry 6 marks. Each question will have internal choice
Section-A (1x8=8)
1) V5 nufond Aftmr 31 ( AIYVI3)

JSis an irrational number.  ( True/ False)

2) tanAT HB I 1 3 ¥ a4t Jo| (AJIASI)
The value of tan A is not greater than 1. ( True /False)

3) AP -5-3-113,....... ATST nizg U3T &9
Find the common difference of an AP-5-3-1,13.... ’
a)4 b) 2 c)5 d)-2

4) B3 @ fdsa @ mifess & 539 98¢

Choose the formula to find the volume of the frustum of a cone:

a) % nh(r +713) b) %nh (r? + 1 +3n1y)
c)—;- wh (r2 + 1y +14) d) %nh(rl2 -r#)
5 fmfigd@tv-ge¥gderfige ... FTgE I

The distance of a point from the y- axis is called its .

IR UER ECR: CL i — afde Is|
A polynomial of degree 1 is called .

7) %ee@w@ﬂ%%ﬁzwﬁﬁwﬁwmwwéﬁ
Write the formula to find the length of the arc of a sector with angle at centre is ©
g) fea fanfos wes € Heesr faat J<t 1
What is the probability of sure event ?
Section-B (2x8=16)

9)  Hftpmt 135 M3 225?H.ﬂ.€gﬁf&3€3ﬂa€rﬁaﬂém€mwa%|
Using Euclid’s division algorithm, find the HCF of 135 and 225.

10) ﬁaéu@mwaﬁﬁﬂémwﬁamﬁmw4m§ 131
Find a quadratic polynomial whose sum and product of zeros are 4 and 1 respectively.

W



11) 23 ft milcast © 73 T 3% U3 &9:
Solve the following pair of linear equations:
3x +4y =10
2x -2y =2
12) @ w3t IiAgs 2x2 +x -6 =0 T ¥ UST IJ |
Find the roots of the quadratic equation 2x2 +x -6 =0.

13) 12 fo39 &9 DEIBCTIECT HE U3 I |

A
In the given figure DE 1l BC .Find the value of EC. 1“:;‘2 %;’;‘“

Iem
WA

14) T a3 fx faR Sag € forr € fRfont 3 fushit AugE Juret

1

AHTZT Jeit 5|

Prove that the tangents drawn at the ends of a diameter of a circle are paraliel.

15) f¥x 88 g 3 &5 w3 5 T aef 951 o 88 &9 nioea 83 de gg9 <1 argt
3\ fer ot Heea of g4t fx A=t aEt AF (8) W I () TS & I

There are 3 red and 5 black balls in a bag. One ball is drawn
probability of getting
i)A Red ball ii) Not a red ball

at randam. Find the

16) fefanrgent @ % AHT 3 HIB € 20 ut T Ufort o REft= I 50 viss fEwd

31yt wg HaHs (ARS) Ut & At uzT 39

A survey was conducted by a group of students in which they collected the following
data regarding the number of plants in 20 houses in a locality. Find the mean number

of plants per house:

Ufentt &t Afunr | 0-2 2-4 46 |6-8 8-10 10-12 | 12-14
No. of Plants
gt & R 1 2 1 5 6 2 3
No. of Houses
Section-C (4x8=32)

17) 3 A ufost SfoHs S BHe (AT fg) i3 gE 3 5 A amie §1 QU B 8B qH &

T2 13 31 Rt T93H® 8T UsT 3!
The sum of reciprocals of Rehman’s ages ( in years) 3 years
now is - . Find his present age.

ago and 5 years from

18) B8R APET 318t uE uzT IS farer 11-F UT 38 »i3 1637 UT 73 31
Find the 315t term of an A.P whose 11th term is 38 and 16t term is 73.

19) F 6. €3 11 . 75 M3 BT AH3® 9t 3 ¥F I5 17T 8w € J53 frfanit ©
fegarat ot 12 M. 32 3t Gost @ Quad fifantt ¥ fevaradt g3t usT 9|

Two poles of heights 6m and 11 m stand on a plane ground.
their feet is 12 m, find the distance between their tops.

If the distance between

OR
fegfic A T, § R Ja9 2 XTI T 5 AH ot 3 3, Io9 3 SR Jur A Bt 4

Y 31 Jag @ nigufen ™ UsT a9 |

2)



20)

21)

22)

23)

24)

The length of a tangent from a point A at distance 5 cm from the centre of a circle is 4 cm.
Find the radius of the circle.

Aag fiE_A6,1), B(8,2), C(9,4), D(p,3) f¥a AHZT T39gn ¢ fing fem ft g Re Jz
It P T HS UIT I

If the point A (6,1) , B (8,2) C (9,4) and D (p,3) are the vertices of a parallelogram,
taken in order. Find the value of p. ‘

filg =9:
Prove that :

1+SinA .
,-1——Sm_A = SecA+tand

frigas:

Prove that :
1+SecA _ Sin?A
SecA  1-CosA

féa fggm ABC 58 far %9 BC = 6cm, AB = 5cm i3 £ABC = 60° 39 | feg &
f3g7 &t 996" &3 ARt gt f3gn ABC Thnif gAe! &7 % JET <

Draw a triangle ABC with sides BC = 6¢cm, AB = 5cm and 2ABC = 60° .Then
construct a triangle whose sides are % of corresponding sides of triangle ABC.

OR

mits T fox e 3 7 e 2 wiors e 3 30 H gt 3 3, Hisw © g e GuT o
300 J1 Hiwrg & GuEt Uz &I

The angle of elevation of the top of a tower from a point on the ground which is 30m
away from the foot of the tower is 30°. Find the height of the tower.

fizg oo Safts 3Tar T839E® U3T J91 Aad ABCD 3™ 14 AH
% T9d1 3 M3 APD »3 BPC € »9U 999 I3 |

Find the area of the shaded region in given figure if ABCD is
square of side 14 cm and APD and BPC are semicircles

N OR

Adt fHe'E a9
Match the columns:

n Jag € JuTet g1 ©F 439eH (Area of quadrant of a circle)

2n nigufenrr | feardt @8 da9 e ufory

(Circumference of a circle with radius 1 unit)
i Fedt az 180° T3 gy & Sareh
(Length of arc with central angle 180°)
Circumference
ar Ag/ffemmm  (——)

Diameter

(3)



Section-D (6x4=20)
25) foae 2t 3 ¥ 39 3 39009 &9 3 #8 3 6 AT udtlent| amiE 9 BA3 fEa dg 93
w3 B8R 39t Enft 2 dreT 13009 9T udldnt 12 def w3 1 98 & I otHs uzT &9 |
The coach of a cricket team buys 3 bats and 6 balls for Rs 3900. Later she buys another
bat and 2 more balis of the same kind for Rs 1300. Find the total cost of 2 such balls and
one such bat.

OR
o9 fai 85 & nig w2 g9 &gt &9 2 A3 fdzr 72 3 fog 9/11 J AT 31 AST vig i3
J9 &9 3 Az fifgr 7= 3t 5/6 T #iet I feg f¥s uzT 39|
A fraction becomes 19—1 if 2 is added to both the numerator and denominator . If 3 is

added to both the numerator and denominator it becomes 2 . Find the fraction
26) fifg o9 fa f&x AHaE 397 &9 <9T T T3 gt € gA=! € T9d1 © 7F € 5999 g7
31

Prove that in a right triangle the square of the hypotenuse is equal to the sum of the
~ squares of the other two sides.

OR
g 39 fa gadt fig 3 dag 3 furdhort arstort AUTH Quret Enft Barenit g9a9
Jert 351 |
Prove that the lengths of tangents drawn from an external point to a circle are
equal.

27) 3t form T & yo 147 aifaeet Saydhr A IR RS I et it S wo @
m%ﬂme@aaavwm@%eas%‘%aummwﬁgéwé &
yarg & ¥5 g AT 3 fer g € Guret Uz 39|
A well of diameter 3m is dug 14m deep. The earth taken out of it has been spread
evenly all around it in the shape of a circular ring of width 4m to form an embankment.
Find the height of the embankment .

OR

®ast 2 f¥F 37 ¥%E © 93 fAT 3 € noudis ge & dee 98
e <Az g=Et It T 1AET a%E ©F §IE 10AH T »3 iU &
nigufena 3.5 AH 3 3* feR TAg ©F I% AT T §39Es UST A9 |

A wooden article was made by scooping out a hemisphere from
each and of a solid cylinder as shown in figure . If the height of the 4 /gg fy/” ,éff'
cylinder is 10cm and its base is of radius 3.5cm. Find the total é % -
surface area of article "‘\\\\i\\\fﬂ\\\\\‘

28) I 13 viaz fai fils ¥ 200 ufgeat & d® HAS T9 WIH_uTe & 35 & TaAge
51 fegs ufgeat e ggoa HARRTT ¥ U™ a9 |

The following data gives the distribution of total monthly household expenditure of 200
families of a village. Find the modal monthly expenditure of the families

yII(T:) ufgerat < At
Expenditure(In Rs) No. of families
1000 -1500 24

1500- 2000 40

2000- 2500 33

2500- 3000 28

3000- 3500 30




3500 - 4000 22

4000 - 4500 _ 16

4500 - 5000 7
OR

Js fadt At 400 fsBs But ¥ wiwsas § TarB+l I feredt Hitar Hieaa® usT a3 |
The following table gives the distribution of the life time of 400 neon lamps. Find the
median life time of a lamp

fies 3% ( ufentt i<9) But Tt Afemr
Life time (iin hours ) No. of lamps
1500- 2000 14
2000- 2500 56
2500- 3000 60
3000- 3500 86
3500 - 4000 74
4000 - 4500 62
4500 - 5000 48

()



S Md:80 HS® YHs U39 (@fe3)-2 FHF:3u(e

Max. Marks:80 Model Test Paper (Mathematics) Time : 3 Hrs.
AH3-ER=L
Class X
Agdt ae:-

1. 3-8 yas1 33 8 3K f&q nid T3 I5|
Part-A : From Q. 1 to Q. 8 carry 1 mark.

2. FIA-MYAG 9T S F 16 3F € i B IS
Part-B: From Q.9 to Q 16 carry 2 marks.

3. IE-T YEG 17 T B & 24 3 v vid o8 75| feast yEst e fan & 35 ymst
fe'g riegat 8¢ It
Part-C: From Q.17 to Q. 24 carry 4 marks and have internal Choice in any three
questions.

4. SE-FYES 25 T B X 28 3 2 via o g5 fegst A yHe' fe'e niegst g
Jt |
Part-D :From Q. 25 to Q. 28 carry 6 marks. Each question will have internal choice

PART- A

13 8 yHs 3. 3% 99 yms fEa nig = =4

1. ufohw Bfinr -2 TAHEE YA AIZ I (AT/a53)

3125
13

Decimal expansion of rational number s is terminating . ( True/false)

2. sin?0 - cos20 =1 (AJI/IBI)
sin?0 - cos?0 =1 ( True/false)

3. =gUE y=p(x), ® ndy T freat &t faest usT &3 |
In the graph of y = p(x) , find the number of zeros of p (x)-
(a) 2 (b)3 () 0 (d)1

4.  fEaEt AP.-5, -1,3,7, . € A 03T fEHI
Write the common difference of A.P. -5,-1, 3, 7,.....

(a) 2 (b) 3 (c) 4 d)1
5. wzaT E T #A3esT + Wear Eadl 8 AgeaT=
P(E) +P(not E)=

6. X-u9 3 Afgs fig P ¥ fogem i (__, )de I&|
Coordintes of point P on X-axis are (__, ).

7. wiag fenrt 95 T 9398 U I96 ©F B3T OH |
Write the formula to find the area of sector of a circle.

8. g T fdsa v »rfess UsT I35 ©F B39 fod |

Write the formula for volume of the frustum of the cone.

ed



PART-B

9 3 16 YyAG &. I J9K YA 2 Md & J=ar |

Question no. 9 to 16 carries 2 marks each.

9. fix @ Wt ggue Uz I9 faAe fiest e AT % S IT5es -1 I% |
Find the quadratic polynomial whose sum and product of roots are % & -1
respectively.

10.Bftmrret 6, 72, M3 120 T »ETH JoUs fedt 5% H.A.E. U |
Find H.C.F. of 6,72 and 120 by prime factorization method.

al bl _

11 Ut —= == %éma‘d&waﬁﬁmﬁm?ﬁ?m%#m
2x-3y=8
4x-6y=9
By comparing the ratios % ,1% and z—:,ﬁnd out whether the following pair of
linear equations is consistent or inconsistent :
2x-3y=8
4x-6y=9

12. 759 € wzt MiadE 2x2+ kx + 3=0 ¥ H® §999 9 3Tk T HS UF &I |
Find the values of k, for which quadratic equation 2x2+ kx + 3=0 has equal roots.

13. 15 &8 AABC ~ ADEF I nf3 feaf ¥ 839€8% IS 64 cm? 73 121 cm? T6 |
399 EF=15.4cm 92 3F BC usT &3 |
Let AABC ~ ADEF and their areas are 64 m? and 121m? respectively. If EF=5.4 cm,
Find BC.

14. T o3 fx foi o9 © o form 2 fiafonr 3 faEhut st FAUTH Juet ANST
Tt I& |

Prove that the tangents drawn at the ends of a diameter of a circle are parallel.

15. I3 53 wixfant T HOHS UST a9 |

TIdT Mi3TH | 100-120 120-140 140-160 160-180 180-200
CICEISEY 12 14 8 6 10
Find the mean of the given data:

Class 100-120 120-140 140-160 160-180 180-200
Interval
Frequency | 12 14 8 6 10

D



16. 52 Uit &t St 397 & et 3T & FA feg fex Uz FroT Afenr AT 1 AT

17.

18.

19.

20.

e

)& Ja1 T TEAT © ) fea e S EaH IR

One card is drawn from a well- shuffled deck of 52 cards. Find the probablilty
of getting : ‘

a) a king of red colour b) the queen of diamond.

PART-C

17 3 24 Y& 3. 34 I YA 4 vid & J=ar |

Question no. 17 to 24 carries 4 marks each.

yJs T9a 5T'8E & et 5% , mtergE 5x2-6x-2=0 THB UTT &I |
Find the roots of the equation 5x2-6x-2=0 by method of completing the square.

I fa AP T ufg® 7 uni o Aze® 49 3 »3 ufdd 17 uet T Hzes 289 I 3
fere ufg® n UTt € A3ES UST AT |

If the sum of first 7 terms of an A.P. is 49 and that of 17 terms is 289, find the  sum of
first n terms.

fw fagm ABC fmer C mHaE § , €t 3=t CA w3 CB 3 gHe9 D »3 E Afes
5| fiu a9 f& AE2+BD2= AB2+DE?.
If ABC is a right angle trianglein which C is right angle. D and E are points on the sides
CA and CB respectively . Prove that AE2+BD?= AB2+DE2.

Hr
ﬁuaﬁﬁhﬁé&aémwﬁgwmwm@ﬁﬁ?%l
Prove that parallelo gram which touches a circle externally is a thombus.

fagnit A (1, -5 ) »3 B( -4 ,5) % Bz T8 Jumis § x- U9 fan nigu3 &8
EECU N
Find the ratio in which the line segment joining points A (1,-5) and B (-4,5 ) is divided
by the X-axis ?
At
Adt &S &9 ( Match the columns)

i JIfE3x It (AP ATST »i39d( Common Difference)

5 7
2, ‘2', 3, '2', ......

-1 -1 -1
>

4
-10, -6, -2, 2,...... 0
1
2

5

......

1,6,11,17,......

&y



21.

22.

23.

24.

25.

26.

fifmas fx.
Prove that

1+sinA

> = +
I—sinA Sec A+tan A

At
Fod sinA=> 3 cos Anf3 tan ATT H® U 4 |
If sinA =% , find the value of cos A and tan A.

s € fea fig 3 7 WMo & nrorg fig 330 Wt S Edt 33, ieg @ fRim &
8ur= &= 300 T | Hiwg € Gt uzT S |

The angle of elevation of the top of a tower from a point on the ground, whichis 30

~ m away from the foot of the tower, is 30°. Find the height of the tower.

4 FH wiay forme T iR I99 S | &9 3 6 AW §9 AfES e fig I ¥ 3
MUTH Juret o gusT a9 w3 Saat Dt Sargt Y |
Draw a circle of radius 4 cm . From a point 6 cm away from its centre, construct
the pair of tangents to the circle and measure its length.

fsawa”re?ﬁmmrre?érwﬁumﬁ | fer gET gorra 5 fife f&g I a3

§39eH U3 9 |
The length of the minute hand of a clock is 14 cm.,, Find the area swept by the
minute hand in 5 minutes.

PART -D

YRS &. 25 T 28 3 IIA YHG 6 Wi € LT |

Question no. 25 to 28 carries 4 marks each.

Jot i miaes 73 2 A9 HeT IB U a9
Find the solutions of pair of linear equations :-
4x+5y + 13 and 2x -2y = 2
OR
¥ Ayda ot Re T aT , AT 3 180T T | feg dz Uz AT |
The blgger angle of two supplementary angles is 18° greater than the smaller one. find
the angles.

ﬁuaﬁﬁﬁamﬁz@ﬁemwm,wﬁéwﬁ%mﬁ%ﬁa T g9Eg
Jer |

Prove that, in a right triangle, the square of the hypotenuse is equal is the sum of the
squares of the other two sides
OR
ﬁwcraafaemaufsaw%agaawvm fegst et Harz gAet € T9d ©
WEUTS € F9ET YT T |
Prove that the ratio of the areas of two similar triangles is equal to the ratio of the
squares of their corresponding sides.

(a)



27. nmufe»mmme@w%feaar@saﬂwémﬁ»msme@fea IBE T
gu e Tfenr #er J 13%E & BOE U A9 |

A metallic sphere of radius 4.2 cm is melted and recasted into the shape of a cylinder
of radius 6 cm . Find the height of the cylinder.

OR

feaﬂaéféméﬁaéf@afzﬁ4m§m§fm%€aﬁfﬁaw%uﬁnm18ﬂwm%

6mazlf8ﬂ%m€?€aawwagaa8u3raal

Slant height ofa frustum of a cone is 4 cm and circumference of its circular ends are 18 cm
and 6 cm. Find the curved surface area of this frustum.

28. 35 f¥R &3 wrast ¥z yIB @ Sfoni ¥ IAeT ¥ Y99 § TOAGE I | HOWs WY
YITT 18 9. T | nifgms IETsT f U JT |

The following distribution shows the daily pocket allowance of children of a locality.
The mean pocket allowance is Rs. 18. Find the missing frequency.

AT A" Yygyg | 11-13 | 13-15 15-17 | 17-19 | 19-21 21-23 | 23-25
Daily Pocket Allowance
Ffant St Al 7 6 9 13 f 5 4
No. of children

OR

JI5 ﬁﬁésméﬁaﬁblooémﬁqﬂﬁa%»ﬁm%méewﬁﬁ |

The following distribution shows the per hectare production of wheat of 100 farms in

a village:

g3ues 50-55 | 55-60 | 60-65 | 65-70 | 70-75 | 75-80
Production

SgHT & Afumr 2 8 12 24 38 16
No. of farms

%ﬂaamméaﬁm@mﬁwmml

Convert it into more than type distribution and then draw its Ogive.

(10)




B nix:80 H'S® YHs U39 (@fe3)-3 AW 3ufe
B Max. Marks:80 Model Test Paper (Mathematics) Time : 3 Hrs.
CUIESEN

. Class X
Agdt 8-

1. 3-8 ymsl 33 8 IF & nig T3 T51
Part-A : From Q.1 to Q. 8 carry 1 mark.

2. FA-MYAS 9T 3 A 16 I € nid T TS|
Part-B: From Q.9 to Q 16 carry 2 marks. .

3. m—ewn?%éms—o{wme@amﬁwwﬁ?hﬁaﬁaqﬂ#ﬁv
niegal g ddt|
Part-C: From Q.17 to Q. 24 carry 4 marks and have internal Choice in any three
questions.

4. SI-AYAS 25 T & 28 3F 2 vid o I5| fegst AQ yrAst &9 niegst 8¢ dqt|

- Part-D :From Q. 25 to Q. 28 carry 6 marks. Each question will have internal choice
gar-€

T YHS e 1 nig I:

1.fan fig (3,-4) T gH
Abcissa of point (3,-4) is

2. AP. 3,1,-1,-3.. ... T AT %i3T U3t a9 |
Find the common difference of A.P. 3,1,-1,-3,.....

3. ¥59 & mg 3 ISt e Ja@ T fonw ger 31 (FA3)
Diameter is the largest chord of the circle. (True/False)

4.3 JES5US T YT T

“Complete the factor tree

I

_ / \
./ \
/ \

1. #&9 P(E) = 0.05 T, 3 P(E &) e‘fw at gt
If P(E)= 0.05 then find the value of P(Not E)?
(i) 0.5 (ii) 0.05 (iii) 0.95 (iv) 0.095
2. tanA T ¥ IRET | 3 e ger 31 (R/Am3)
Value of tanA is always less than 1. ( true/false)
3. & wt sgue feg du 3 0 it fAeet 3 AeEt 957
Maximum Number of zeroes of quadratic polynomial can be :
i (o @)1 @i)2 (iv) ferfes st
4. Ay € To9 AZT T U39S UST IT6 € H3T O
Write the formula to find the curved surface area of a cone?

)



10.

1.

12.

gTdr-m
I YA © 2 vix J:
135 vf3 225 T FIBs I3 MwdifeeH fedt It HA.Z. (H.CF) U3 91
Find H.C.F. of 135 and 225 by using Euclid Algorithm.

foss fRg AT DE 11 BC 3 x T ¥® 3T &9 |
Find the value of x in given figure if DE | 1 BC.

52 Ufant & It 39} 5% ST I 3 | IS oS fx Uz gow Sfenr wieT I 1Js fefont &
Y3 95 € RIS UST -

é)ganwﬁzf n) f&x &z o Fam |

A Card is drawn at random from a well shuffled pack of 52 cards .Find the probability of getting:
a) a card of spade b)queen of diamond.

FIUT 2x%-Tx +3=0 ¥ 4B U I3 |
Find the roots of 2x%-7 x +3=0 .

gIUT 2x3+ 3x -2 3 x+ 2 & g fe
Divide 2x3+ 3 x -2 by x + 2.

ot &3 It milags A3 T I Uz 9

Find the solution of the pair of linear equations given below:
3x+4y =10
2x-2y =2

fea fig A 37 fg 99 © ATT 3 5 AW € g9t 3 T, Ta9 3 AUTH Jur € SAEt 40 J1TaT T
gy fenR U3 A3

Point A is 5 cm from the centre of the circle. If length of tangent from point A to circle is 4 cm, then find
the radius of this circle.

foR dregm oo 10 foae Aot feg &2 o feaet & Bt Is fod nigATs 3t
2,6,4,5,0,2,1,3,2,3

fegst viafant T 978 U3T IS |

Number of wickets taken by a bowler in ten cricket matches is given below:
2,6,4,5,0,2,1,3,2.3,

Find the mode of the given data.

gJ-T
JIK YHS T 4 mid 3:( Each question carries 4 marks)

13. € Aftoret yzT aq fagt & 73 27 3 IS5 182 IR

Find two numbers whose sum and product is 27 and 182 respectively.

Q)



14.

16.

17.

18.

19.

- 20.

8 T ufgs 15 gert T AFes U a |
Find the sum of first 15 multiples of 8.

Hr

A ABC ¥ AHEgH! AHIET f3aE I fAre o C AHdE J1 T &9 AB2 = 24C?
A ABC is isocles right angle triangle.= having right anglt at C. Prove that AB? = 2AC?

. fig a9 fa a5 2 forrr 2 fafant €3 Ut adhert AUTR Ju=t AHTET Joft I51

Prove that tangents drawn at the end points of the diameter are parallel to each other.

faentt (-3,10) M3 ( 6,-8) § fio8e =8 Jumis § fiE ( -1,6) fam nigus feg S5 T
In which ratio the line segment joining points (-3,10) and (6,-8) is divided by point(-1,6).

Hr
AJt fH&'E &9 (Match the columns:)
(®) y® fdg © fsgem »id (Coordinates of origin)

(nf) fE (xy) Tt & fig 3 7 (distance of (x,y) from origin)

2
(® fdg (0,-3) JZEy2
(F) (x1,y1) M3 (x;,y2) 3 @Bz a8 unds e Hu fig © ©0.0)

fsgem & ( Coordinates of mid point of line segment
Joining points((x1,y1) and (xa,v2).

HIT AB M3 C, A ABC %ﬁ?‘g?ﬁ&?ﬂ?i, 37 fig &9; sin (%) = cos (%)
If A,B,C are internal angles of ABC then prove that

At
Hold tan 2A = cot (A-18%) fiE 2A I f6@5 Iz I 3F A T B UsT &I
If tan 2A = cot (A-18%) then find the value of A Where 2A is an acute angle.

ugst ® feq fig 3 oo v 8= dF 30° 3,7 fx o9 3 30 #t: &t gt
I A3 T | Ze9 & 89t uzT 9|

Angle of elevation of a tower from a point on the ground which is 30m
away from the base of the tower, is 30°. Find the height of the tower.

y-U9 3 AfE3 J I (situated at Y -axis)
X1ty1 , Xzty:
2

fog fagn &t 995 I3 AT IAet gHITI SAM,6HH W3 7AN JT IfEx 99 f3gH & 395 &9

ﬁﬁwmuﬁwﬁ%&z%mmwgaﬁfﬁi |

. . . . 7
Construct a triangle whose sides are 5cm, 6cm and 7cm. Then construct another traingle whose sides are 3

times of the corresponding sides of the first triangle.

f¥s T3 fiare nigy ferm 21 AH I, & 97U aE9 3 60° T dE T J1U3T A9 -

©) Ty & sgret
ni) G PET GTT 91T WiJT ferAt §F T 939Es |

An arc of a circle of radius 21cm subtends an angle of 60° at the centre. Find:
(a) Length of arc
(b) Area of sector covered by this arc.

()2)




21.

22.

23.

| A
IIX YHS T 6 nid J: :( Each question carries 6 marks)

Aag vt vin feg | 73 92 w3 99 e’ | wor eE12 3t f¥s | feu sEm ARt 9 | 799 free o9
feg 1 AT ¥R s g S me At 3 1 s Uz &S|
If 1 is added to numerator and 1 is subtracted from denominator of a fraction then it becomes 1. If 1 is
added to denominator only, fraction becomes % Find the fraction.
A

It mitage Afgnt § widdt fedt It 9% &9
Find the solution of pair of linear equations by graphical method.
xty=5 M3  2x3y=4
HS AHS nigurssT fa@an fifg &3
Prove Basic Proportionality Theorem.

G
Ao foi f3gw fou 7 377 @ <991, TR € gt ¥ 991 @ A © 5999 = S ufost g ©
AIHE T A& AHAE Jer J|
Ifin atriangle Square of one side is equal to the sum of squares of the other two sides then angle opposite
to the first side is right angle.

foa fuSe , »iau foum 3.5 AH T8 X Bg niae T I,  8R »ioT fenrm T8 B niga 3B 3
fefsor 31 fem fu32 <t o 8uet 15.5 Ax 91 fom i3 <t I AT T 839E® U 9|

At
ust itz @3 ¥ T 14 AH Buret @8 fq Hy ® fésx € »iade v J1 €5t Jaqrard fRfant
foni™ 4 AH 3 2 AX 35| fER IR & T9E AHEE U a9

24. I5t ft Aot foit ous g e feim As &9 393t 98 Jaitnrt &t 8Ha e @et It

Following table-shows the age of patients admitted in a hospital in a particular year:

(st feg ) 5-15 15-25 25-35 35-45 45-55 55-65
Age ( In years)
6 11 21 23 14 5
BuUIA3 nidfanf’ o TgB UST A |
Find the mode of the given data.
Ar
I o3 niafant o Hrer 525 31 F99 I9EEST €T AF 100 I 3 x m3 y WS UST S|
Median of following data is 525. If sum of frequencies is 100 then find the value of x and y?
gddr 0-100 100- 200- 300- 400- 500- 600- 700- 800 900-
1 ECHY] 200 300 400 500 600 700 800 900 1000
class
interval
TIgII 2 5 X 12 17 20 y 9 7 4
frequency

Cry)



& Md:80 H'S® YH& U39 (Afe3)-4 ANt 3uie
Max. Marks:80 Model Test Paper (Mathematics) Time : 3 Hrs.
AH3-TRST
Class X
wgdt Be:-

1. 3a9-8 ymsl 3 3 & 8 IF & via o3 51
Part-A From Q. 1 to Q. 8 carry 1 mark.

2. FA-MYRS 9T 3 A 16 I € nigd T3 T51
Part-B From Q.9 to Q 16 carry 2 marks.

3. ZW-EYRES 173 3 A 24 3 g9 nid T 51 fegst yast fe'g fan & 35
ymast fe'g niegst 2¢ dar
Part-C From Q.17 to Q. 24 carry 4 marks and have internal Choice in any three
questions.

4. FA-AYAS 25 T 3 A 28 3T 2 vix B 75| fEgst A ymst 'Y niegst g
It )
Part-D From Q. 25 to Q. 28 carry 6 marks. Each question will have internal choice
Fa-8(Part-A)
I YA € 1 v J:(Each Question carry One Mark)

1. ™3™ A TH YT I

Complete Prime factor tree

2. vigafefsa &3t 47,41,35,29
Common difference of A.P. 47,41,35,29,..... is
. fig (x,0) fam o3 3 A= 37
On which axis point(x,0) lies?
4. 8 AH faare T € Wt § AF F 93 wifgst & &F TR
Name the figure obtained by joining two cubes of side 8 cm each.

w

5. tan(90°-6)=sin® (AJ/d®3) (True/False)
6. 1 AH wIy fen™H 8 S99 € 839 1 T991 AH Jar? (AAV/IB3)
Area of circle having radius lcm is 7w cm?. (True/False)

7. FgUT plx) = x-3 o9 faea & fasat faat 37
How many zeros the Polynomial, p(x)=x>-3 has?.
(a) 1 (b) 2 () 3 (d) 4

3. fo'x 5o f&'5 3 3B, 2 f52 »i3 4 o5 92 T5| vu9 few gan &9 fF'q der

s fenr Aer 3 3t feret o Aeee 3 fa feg der & Jar e 3°7
A box contains 3 blue, 2 white & 4 red marbles. If a marble is drawn at random from box,
what is the probabilty that it will be black?
(a) 2/9 b) 4/9 c) 0 d) 1

(13)



STa-ni(Part-B)
I YHS ® 2 »id I51  Each question carry 2 marks.

9. Afe=t 306 M3 657 T H.A.E. 9 J1fEgst € B.A.E. UST IJ|
H.C.F of two numbers 306 & 657 is 9. Find their L.C.M.

10. € W3t ggUTT 4X2 -4X+1 ¥ fAGT UzT &9 |
Find the zeros of quadratic polynomial 4x2-4x+1.
1135 fe2 mitsez 33 § 05 a9:
Solve the pair of liner equations.
TX-15Y=2
X+2Y=3

12. k € fxA 0% st qwst mfidas 2X2+kX+3=0 ¥ H® 98T J&d|
For which value of k the quadratic equation 2x?>+kx+3=0 will have equal roots.
13. ¥ AHZY fagat &t garet 4:9 T nipurs fo'9 To i fegt fIgmt @ U39’ w nigus
UIT IS |
Sides of two similar triangles are in the ratio 4:9. Then find ratio of their areas.
14.feq fig A, 7 B'X 959 T FET I Sem TR ‘3 I, TSI 3 AUSH U € B
4 cm 1 &I T IT fori™A usT A3 |

The length of a tangent from a point A at distance 5 cm from the centre of the circle is4
cm. Find the radius of circle.

15. Iat fo'st SsAas 35 mfuet @ AvEsT v9 (yStas f£9) T9AgEl 3 1HTHE ATt
9 Y3T J9:
The following table gives the Literacy rate (in percentage) of 35 cities. Find the mean
Literacy rate.

AYI3T €9 (% f€9) | 45-55 | 55-65 | 65-75 | 75-85 85-95
Literacy rate (%age)

Afgat ot Aftmr 3 10 11 8 3

No. of cities

16. T3 € 5 fis ffomit g sl Braet Jifereh ot Aeesr 3 fx Qo we-we
fe' f8°3 (HEAD) YUz JJaft |
Harpreet tosses two different coins simultaneously. What is the probabilty that she gets at
least one HEAD.

Fa-€ (Part-C)

I YA € 4 »id I5:  (Each question carry 4 marks):

17. 8 Hiret @ T9ar @ ni39 180 1 32 Aftmr T Taq, TS Hftmr = uis g7 I
2 Aftprret uzT FIJH
The difference of squares of two numbers is 180. The square of the smaller number is 8
times the larger number. Find two numbers.

Ue)



18. 7ad faRA.P € ufa® 14 vet & #3e® 1050 I m2 fere ufgw ue 10 3 37 20=F
Ue o dearm?

If the sum of the first 14 terms of an A.P. is 1050 and its first term is 10. Find 20t term.

19. AT 33 13 faR T'99 © 098 UH o7 AHTST 9393, AHT3ISH g J1
Prove that the parallelogram circumscribing a circle is rhombus.
AT Or
f&'s mHsHT f337 € 37T 2a 31 fere I3 YT &9 & Samet uzT a9
Side of equilateral triangle is 2a. find the length of its each altitude.

20.799 g (1,2) , (4,y) , (x6) M3 (3,5) feR gy T &= ‘3 e AT I39gA ©
g 3T 3t x M3 yusT A9 |
If (1,2), (4,y), (x,6) and-(3,5) are the vertices of parallelogram taken in order, find x and y
21.95 fo'st 33mHa fRg a9 fx
Prove the identity
~COS A

(cosecA —cotA)? =1
1-cosA

OR

AT secaA=cosec(A-20°) I2,fif8,A, f&'T fs8s d= T 3t A &7 ¥ U™ JJ|
If Sec4A= Cosec(A-20°) where A is acute angle, find the value of A.

22.7ts ® fe'w fig 3 fe'q 20 m € feras € fingm 3 B3 AgT Higw ¥ 38 i3
g T 897 T JHIT 45°M3 60°7 I HOT Hisa <t 89T U3 &4
From a point on the ground, the angle of elevation of the bottom and top of transmission

tower fixed at the top of 20 m high building are45° and 60° respectively. Find the height
of the transmission tower.

23.6 cm i3y oo T fE'd g9 U9 13E9 3 10 cm g9 AfES oS fig 3 gw °3
AUIH Juet ¥ 73 & J9aT a9 M3 83T Tt Bareet HY |
Draw a circle of radius 6 cm. From a point 10 cm away from its centre, construct the pair
of tangents to the circle and measure their length.

1cm

]
24. ST 4 cm TR EH TGT T NI I3 T 1 om wwg A % B
form @@ S99 T fe'q Juet Iforr famr I w3 l’/ ¥ \.

feg® 2 cm forma T f£x g9 & afonr famr 3
99T € TET 19T T HIISH UST IS |

From each corner of square of side 4 cm a quadrant ofa | .
circle of radius 1 cm is cut and also a circle of diameter 2 ‘
cm is cut from the center. Find the area of the remaining \ :
portion of the square N

OR

(@))



AJt fHerE &9 (Match the following)

9y ferAt ¥3 e 839e% ' n
Area of sector of circle

gy fenAt ¥3 @ Has 9y &t St i
Length of arc . 4
59 T W9V 95T T foorw ’::f
Circumference

Diameter

g99 2 3 R T 339w i

Area of quadrant of a circle

STa-H(Part-D)
I3 YHS © 6 M Ia: ( Each question carry 6 marks)

25.2 fersdnt »i3 5 et fE'q afle @ dn § fe'ad 4 few fe'g yar a9 Aaw T3,
Aefx 3 fersdnr m3 6 nrart fond 3 fos o9 yor &9 Faw 96 1usT &9 fx fem
& i fe' yar adar? )

2 Women and 5 men can together finish an embroidery work in 4 days, while 3 women
and 6 men can finish it in 3 days. Find the time taken by 1 woman alone and also that
taken by 1 man alone.

Or
AHieEt € Jot fo'3 73 § I8 a9
Solve the following pair of linear equations
2,3
z + 5 =13

26.fAT &9 fa @ AHGY fagnt ¥ UsTes’ © nigurs feast dnft Aoz gae’ € nigu™s
¥ T991 € g99 Jer J|
Prove that ratio of the area of two similar triangles is equal to the square of the ratio of

their corresponding sides.
Or

HS AHS nigum33T faBan = s fod 3 fiim a9

State and prove the Basic Proprtionality theorem.

27.fe'% 2t g @ fe'a fdaa @ g & 317w fere ¥'® A9 & »ieu fenm 10 cm
3, Bush AT T niau fent 4 cm I w3 2t & f3g&t €9t 15 em I, 37 fEme
ge8T B B JUI T 439SH UST AT |

A cap is shaped like the frustum of a cone. If its radius on the open side is 10 cm, radius
at the upper base is 4 cm and its slant height is 15 cm, find the area of the material used
for making it.

’ Or

(13)



qHET 6 cm, 8 cm i3 10 cm I fommAt TR o3 @ 35 3 dfent § i 3
fsawanmmwwﬁlfma@@nmfemmwam

Matellic spheres of radii 6 cm, 8 cm and 10 cm, respectively are melted to form a smgle
solid sphere. Find the radius of the resultant sphere.

28. 35 fou vigfant & Higar 28.5 1 Aa9 T9T93=T T AT 60 I, 3T x M3 yT HS

U3t |

If the median of the distribution given below is 28.5. Find the value of x and y

JdT M33% (Class Interval) T3E93" ( Frequency)
0-10 5
10-20 X
20-30 20
30-40 15
40-50
50-60
Or

fe'g gedntt arghnrt &3t § Tar et J1feast niafant & gg8a usT J3 |
The given distribution shows the number of runs scored by some top batesmen of the
world in  One -day international cricket matches. Find the mode of given data:

FITEM IEMAT E3H(Runs Scored)

THIHT @t BT no. of batsman)

3000-4000

4

4000-5000

18

5000-6000

6000-7000

7000-8000

8000-9000

9
7
6
3

95000-10000

10000-11000

Gay




IB N80 H'S® YHS U39 [@fE3)-5 AW 3ule

Max. Marks:80 Model Test Paper (Mathematics) Time : 3 Hrs.
‘ AHS-EAST
Class X
Aget 82:-

1. 3-8 yFsl T 3 @ 8 3 fE'q nix @ 51
Part-A : From Q. 1to Q. 8 carry 1 mark.

2. FTA-MYES 9 F B 16 3T T Wik TB T3
Part-B: From Q.9 to Q 16 carry 2 marks.

3. FE-€ YEs 17 3 8 & 24 3F 91 »ix T3 Ts | fegst ymst fo'e far & 3
ynwt fo'g niegst 8¢ et
Part-C: From Q.17 to Q. 24 carry 4 marks and have internal Choice in any three
questions.

4. TIA-HYAS 25 T B A 28 3T 2 nid T I | fegat A yrst fe'g viegdt 82
J<tt
Part-D :From Q. 25 to Q. 28 carry 6 marks. Each question will have internal
choice

Fa-8
I3 yHS € 1 »ig I : (Each question carries 1 mark)
1. Wi JEEES IY YT &9
Complete the prime factor tree. 24

EN 6
3]

2. AP 18, 13, |3 g udt ' 39

Fill in the blank in 4P 18, 13, __ , 3.
3. 7ag fifg p, € fignt AM3 g firGe T8 Jumds o Ho fifgd 3t fige 2 foIen
nig feu:
If P is the mid point of the line segment joining the points A and B then write coordinates
of point P

A( x1,y1) P B( x2,¥2)
4. 6 AH fa™ T wE T mfEss U 97

Find the volume of cube whose edge is 6 cm.

5. Sin(90°-6)= cot@(FIV/IB3) (True/False)

6. WO o™ r T8 IS & WT' 2nr? JLAT? HIY BT

Circuference of circle of radius r is 2nr?. (True/F alse)

7. f¥gr Jfenr »idY SgUT pk) T J1p(x) € frregt <t fast f&et 92
Find the number of zeros from the graph of polynomial p(x)
(a) 1 )2 (©3 (d 4

(20



8. Hoar T 35 fo9 fw A9 § wfenr wier 3 7 feani fé9 nr€z :

3 gre Hitmiet 1,2,3,4,5,6,7,8 89" fan f&x Aftmr 3 Aoz
g 31 379 feg A ufgeH AH-Hee! 75 37 feret ot Ages Aq%
3 fu e 3 o 8 § RIS A VAN

A game of chance consists of spinning an arrow which comes to rest pointing
at one of the numbers 1,2,3,4,5,6,7 and 8. These are equally likely outcomes. What is the
probability that it will point at 8.

(a) 1/8 (b) 3/8 1 (d) o

g'ar-nf Part B
T34 YHG ¥ 2 Wid T6 : Each question carries 2 marks.
9. nigw JEays fedt It Aftpret 96 M2 404 T H.A.E M3 B.A.E YT &S|
Find the H.C.F. and L.C.M. of numbers 96 and 404 by prime factorization method.

10. € w3t ggue xLz»B%fnaaua*a%m%fnaa*m%aﬁia*éfe'aawm?u*e”r
Horet &t 79 &9 |
Find the roots of the quadratic polynomial x?-2x-8 and verify the relationship
between roots and coefficients of a polynomial.

1. Iz &3 mitges 73 § I& T |
Solve the given pair of linear equations:
3x-5y-4=0
Ix-2y=7

12 uzr 73 £ ot 2wt mANEE 3xe-5x+2=0 ¥ HE HaT I& ? oS HET I5 3T
uzr &s |
find the roots of quadratic equation 3x2-5x+2=0 if they exist.

13395 %8 AABC ~ ADEF 31 feast @ 83988 qHId
36cm2n3 9cm2 5| Aad EF = 3 AH
32 3t BC € Surel U™ &9 | _
If AABC ~ ADEF and their respective areas are 36cm? §
w3 9em? . if EF= 3cm then find the length of BC.

14, 3 T Xedt 99" T nigu fenA 5 AH 3 3 AH T5 | B Jag &t 8H
Hfrer Ot At Uy A9 7 8¢ o9 § AUTH Seel 99 |
Two concentric circles have radii Scm and 3 cm respectively.Find the length of chord of
the bigger circle which touches the smaller circle.

15. %ﬁﬁﬁﬂﬁﬁﬁagﬁémwmﬁammﬁa RCERCIEL
3 VA3 FeT 7Y ¥9Y UST AT |
Following distribution shows the daily pocket money of children of a locality. Find the
mean daily pocket money.

Faw Y yagr (3R 11-13 1 13-15 | 15-17 [ 17-19 | 19-21 | 21-23 \ 23-25
Daily Pocket Money (in Rs)

o <t farsst 7 6 9 13 \ 20 5 \ 4

No. of Children

C21)



16.%W§WWW%|W§6&§W%%{@%WWW
T 7% D8I 2D 13FR

Two dice are thrown simultaneously

what is the probability of getting a sum of

the number appearing on the dice is , ‘ ;

6

ng 213

FA- T
I3 YHS T 4 nid T6 : Each question carries 4 marks
17.€Wmmmﬁﬁmﬁfawe*wa%ﬁm§féeaaﬁ@ﬁazgoﬁé

Find two consecutive odd positive integers sum of whose squares is 290.

18.3?A.P@Uﬁ351@?ﬁ3€8@&%ﬁﬂ%gﬂ%m§mu%m14»@18

IJ6 |
Find the sum of first 51 terms of an AP whose second and third terms are 14 and 18

respectively.

19. ﬁaéwﬁmuﬁ»ﬁ?gwﬁaemﬂABCDWW% |
fitg 59 f& AB+CD= BC+AD :
A quadrilateral ABCD circumscribes a D C
circle. Prove that AB+CD= BC+AD.

A B

o
10%%%&@%@"@3%%%%3@8%@
W%nfazﬁafdaa?gauﬁae?%l g T wioe 3 Ut ¥ IS
& gt usT &9
10 m long ladder is placed leaning against a wall such that it reaches the 8m high
window.Find the distance between foot of the ladder and base of the wall.

20. ffentt A (4,-1) M3 B (-2 ,—3)§ﬁw€ze®%&r&zﬁammﬁﬁa
2zz o gt T fogenl Mid UF’ coll
Find the coordinates of the point which trisects the line segment joining the points A (4,-
1)and B (-2 ,-3)

21. I It 33MHa AT &1, fraofx o8 3= I |

Prove the following identity, where 0 is an acute angle.

T¥En G
\/ 1-ginf - secH + tan6

359 sin3A = cos(A-26%) 97, TR E, 3pfeq f685 3 I 37 AT HS U3 9|
If sin3A = cos(A-26°) where 3A is an acute angle then find the value of A.

At




NS e g PRI 0 I e T M &
g9 &= 300 I go5 2 fmg 3 ¥ 37 sfoarfenr
famm 3 mi3 pT Y3 Y fiyg o §FE AT 450 9153
3 23 & et w3 Mg P 3 s € g UST S
From a point P on the ground angle of elevation of the top " SBL e
of a 10 m tall building is 30°. A flag is hoisted at the top of
a building and the angle of elevation from the top the flagstaff
from P is 45°. Find the length of the flagstaff and distance of
building from point P. (take V3=1.732)

23.mm8ﬂnm%§g@4méf‘eam§§ﬂ°rf3§ﬁ€rma% | fag foa 99 f3g7
il e 33 faret g fen FHEH fgga it HaS g € 123 32 |
Construct an isosceles triangle whose base is 8 cm and altitude is 4 cm and then another
triangle whose sides are 1% times the corresponding sides of the isosceles triangle.

24. 15 mwa@ﬁaww%ﬂw%ﬁa&%?,’ﬁﬁ%mﬁ% g sH &t
S5t 57 o e 31U 9 _
(i)ﬂ?ﬁ%@ﬂgﬂt@mﬁzﬁ?wmm%\
(ii)@ma@mﬁawmi@;& s5Ht et It ©

AES 3 10Ht St IFt 5% g6 fEFT A I(n=3.14 2)
A horse is tied to a peg at one corner of a square shaped grass field of
side 15 m by means of a Sm long rope.Find
i) the area of that part of field in which the horse can graze.
ii) the increase in grazing area if the rope were 10m long instead of Sm. (use 7= 3.14)

7 (OR)
At fisre &9 | (Match the column)

(i) iau fenmt dg & ¥398% (Area of a sector) n
(ii) »aa fenrdT ¥3 2 Harz gy & $arEt (length of an arc) -
“ ) ) nrt o
(iii) 9T € WaT (circumference of circle) 360
Fog o feiH (Diameter of circle )
v - o . 2nré
(v)Tag e SRR & Y=39es (Area of quadrant of a circle) —3%

ga-H
I3 YAS € 6 nig TG

5.7 famst 10 Wﬁaw@ﬁw%@mmf‘aﬁw@wam%
44 T wiEt 1 13 Wifentt f¥9 feg orar &1 femr @ 8¢
40 ﬁ.ﬁm%waﬂf%w%mssfmﬁﬁ?n
wéww@mﬁnﬁawﬁféﬁwwaﬁl.

A boat goes 30 km upstream and 44 km dowmstream in 10 hours.
In 13 hours it can go 40 kn upstream and 55 km downstream.

(23



Determine the speed of the stream and that of the boat in still water.
|t

uE=s 73 fx At € 737 5x-4y+8=0 M3 Tx+6y-9=0 KIS I 17T fenm 3
3,3t fegst § qre T IS S|

Find whether the g_iven pair of linear equation is consistent or inconsistant. If consistant
obtain the solution graphically.

26.%@&%@@#%%?»@?%%%5@%»@@%
T9qr T EIES JeT I |
Prove that ratio of areas of two similar triangles is equal to the square of the ratio of their
corresponding sides.
Ar
et © fAats fod w3 fifa &9 |
State and prove Pythagoras Theorem.

27. uaﬁha»@@ne?ugﬁéwa%@aﬂmaﬁwaaaﬁgw )
#% 2 9A § o @ & Frer w for 3 1 fAW g ¢ s @
g & Fifanr T2 U wer 3 st e 99w ¥ 38 I
Zwat @ foni TS 30AH M3 35 AH T8 | Ay & firdt geret
14FH 3 1989 1AH® AIJ ©F geHG BAEd 1.2 IH I 3t I
ﬁﬁ%@wma@ﬁ%wmwaﬁ | (n=22/7 ®S)
Dharminder and his wife Rekha are making jaggery out of sugarcane juice. They have
processed the sugarcane juice to make molasses which is poured into the moulds into the
shape of the frustum of a cone having the diameters of its two circular faces as 30 cm and
35 cm and the vertical height of the mould is 14 cm as shown in figure. If each cm?® of
molasses has mass about 1.2 gram, find the mass of the molasses that can be poured into
each mould. (Take n=22/7)

At OR

W forr T € 4T 14}%311%@8?57&@(‘2%{*#@%1%%%%@
fre?ﬁiétg“gv%a%wﬁmﬁ%ﬁrfa”aéa@aﬁww@%ﬁé,
mgum%wafe”am?a%wﬁqu@%nﬁaﬂa%é
got U @1 (n=22/7 )

A well of diameter 3m is dug 14m deep. the earth taken out of it has been spread evenly
all around it in the shape of a circular ring of width 4 m to form an embankment. find the

height of the Embankment ( Take 7=22/7)

(omy



28. %ﬁmamméésm@ﬁmémﬂmm
IR 3|feawmsrf‘3we°r}rfuwrn%wu?aal

The following frequency distribution gives the monthly consumption of electricity of 68
consumers of a locality. Find the median an: 4 mode of the given data.

HIT®STd HU3 GuSds=e ©f AT
(Monthly consumption (in units) Number of consumers

65-85 4

85~105 5
105-125 13
125-145 20
145-165 14
165-185 8
185-205 4

# Or

ﬁamﬂaﬁwmszsﬁﬁaﬁﬁm@@ﬁamo%?xm@y@ﬁs

Uz 9 |

The median of the following dat is 525. Find the value of x and y, if the total

frequency is 100.

9qr WIS | 9993
(Class Interval) ( Frequency)
0-100 2

100-200 5

200-300 X

300-400 12

400-500 17

500-600 20

600-700 y ]
700-800 9

800-900 7

900-1000 4

{as)



